
∑𝑥 = 28

∑𝑦 = 61.8

∑𝑥𝑦 = 314.8

∑𝑥ଶ = 140

𝑛 = 7

𝑦 = 𝑚𝑥 + 𝑏

𝑚 =
𝑛∑𝑥 − ∑𝑥∑𝑦

𝑛∑𝑥ଶ − (∑𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑚 =
7(28) − (28)(61.8)

7(140) − (28)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑚 =
473.2

196
⎯⎯⎯⎯⎯ = 2.4142857

𝑏 =
∑𝑦 − 𝑚∑𝑥

𝑛
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑏 =
61.8 − (2.4142857)(28)

7
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑏 = −0.828571

𝑦 = 2.41𝑥 − 0.83

Least Squares Method

       𝑥        𝑦      𝑥𝑦     𝑥ଶ     𝑦ଶ

       1     1.5     1.5      1     2.25

       2     3.8     7.6      4   14.44

       3     6.7   20.1      9   44.89

       4     9.0     36    16   81

       5    11.2     56    25 125.44

       6    13.6   81.6    36 184.96

       7     16     112     49  256

     28   61.8 314.8  140 708.98

Correlation Coefficient : −1 ≤ 𝑟 ≤ 1

𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 𝑁𝑒𝑔𝑎𝑡𝑖𝑣𝑒𝑍𝑒𝑟𝑜

∑𝑦ଶ = 708.98
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𝑟 =
𝑛∑𝑥𝑦 − ∑𝑥∑𝑦

ඥ(𝑛∑𝑥ଶ − (∑𝑥)ଶ)(𝑛∑𝑦ଶ − (∑𝑦)ଶ)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑟 =
7(314.8) − (28)(61.8)

ඥ(7(140) − (28)ଶ)(7(708.98) − (61.8)ଶ)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑟 =
473.2

ඥ(196)1143.62)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑟 = 0.999

𝑟 = 1 𝑟 = 0
𝑟 = −1

𝑟 =
1

𝑛 − 1
⎯⎯⎯⎯⎯∑ ቆ

𝑥௜ − 𝑥̅

𝑠௫
⎯⎯⎯⎯⎯⎯ቇ ቆ

𝑦௜ − 𝑦ത

𝑠௬
⎯⎯⎯⎯⎯⎯ቇ

OR

𝑟 =
1

7 − 1
⎯⎯⎯⎯⎯

⎝

⎜
⎛

ቆ
1 − 4

2.16
⎯⎯⎯⎯⎯ቇ ቆ

1.5 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ + ቆ

2 − 4

2.16
⎯⎯⎯⎯⎯ቇ ቆ

3.8 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ + ቆ

3 − 4

2.16
⎯⎯⎯⎯⎯ቇ ቆ

6.7 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ + ൬

4 − 4

2.16
⎯⎯⎯⎯⎯൰ ቆ

9.0 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ

+ ቆ
5 − 4

2.16
⎯⎯⎯⎯⎯ቇ ቆ

11.2 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ + ቆ

6 − 4

2.16
⎯⎯⎯⎯⎯ቇ ቆ

13.6 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ + ൬

7 − 4

2.16
⎯⎯⎯⎯⎯൰ ቆ

16 − 8.82

5.218
⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ

⎠

⎟
⎞

𝑟 = 1.6(1.948 + 0.891 + 0.188 + 0 + 0.1854 + 0.848 + 1.91)
𝑟 = 0.995

  𝑥̅ = 4
𝑠௬ = 2.16

  𝑦ത = 8.82
𝑠௬ = 5.218

𝑦 = 𝑚𝑥 + 𝑏
𝑦 = 𝑎 + 𝑏𝑥
𝑦∗ = −0.78 + 2.4𝑥

𝑏 = 𝑟
𝑠௬

𝑠௫
⎯⎯

𝑏 = 0.995
5.218

2.16
⎯⎯⎯⎯⎯

𝑏 = 2.4

𝑎 = 𝑦ത − 𝑏𝑥̅
𝑎 = 5.218 − 2.4(4)
𝑎 = −0.78

𝑅ଶ =
∑(𝑦∗ − 𝑦ത)ଶ

∑(𝑦௜ − 𝑦ത)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ ; (0,1)

𝑅ଶ = 0.98
  𝑅 = 0.99
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